Comprehension —42
SELECTING WORDS/PHRASES

In the following passage, some of the words have been left out. First read the passage over and try to understand what it is about. Then fill in the blanks with the help of the alternatives given.
This narrow gauge railway section is ...1.... among the highest in the world. The diesel locomotive ....2... seven bogeys from Kalka, ...3.... at an altitude of 656 m above mean sea level, to the queen of hills, Shimla. ....4... the Himalayas, the train crosses 889 bridges and
passed through 102 tunnels, including the second largest one in India. Excavation work on this tunnel was started from both ends, and when it was almost over, the English engineers ...5... that they did not ...6... . The Chief Engineer, William Barog, was ...7... a penalty of a rupee,
but he was so humiliated by his failure that he went ...8... the wrong opening and committed suicide. One should not ...9... the nearly-whitewashed alcoves in the tunnel. They are meant for those who walk through the tunnel, to stand safely as the train ...10... . It ...11... at a speed of less than 25 km an hour, takes around six hours to reach
Shimla and ...12... 919 curves in between. When the first train, with three bogeys and ...13... with passengers was ...14...on Nov.9, 1903, it was ..15... by a steam locomotive called 'Hill Puffer'.

1. (a) counted. (b) numbered (c) figured

2. (a) hauls (b) travels (c) lifts

3. (a) placed (b) situated (c) having

4. (a) Traveling up (b) Running up (c) Meandering up

5. (a) realized (b) learnt (c) figured

6. (a) unite (b) connect (c) join.

7. (a) penalised (b) sentenced (c) slapped.

8. (a) at (b) over (c) to

9. (a) miss (b) avoid (c) fear

10. (a) passes off (b) passes by (c) passes out

11. (a) crawls up (b) runs up (c) moves up

12. (a) takes (b) negotiates (c) goes through

13. (a) packed (b) carrying (c) full of

14. (a) moved off (b) flagged off (c) started off.

15. (a) powered (b) moved (c) energized.

 

Answers

	1
	A

	2
	A

	3
	B

	4
	C

	5
	A
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	B

	7
	C

	8
	C

	9
	C

	10
	B
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	A
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	B

	15
	A


